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You will not be allowed to write during the first 10 minules
This time is spent in reading the Question paper.
The time given ut the head of this paper is the time allowed for writing the answers
This paper has 7 printed sides.
Answer all questions from section A and any four questions from section B.
The intended marks for the questions or parts of questions are given in brackets []

SECTION A [40MKS]

Question 1
A)] Name the following [5]
1) The organ responsible for reflexes below the neck
11) Statistical study of human population
i11) The person regarded as the “Father of Evolution’
tv) The enzyme secrcted by the acrosome
v) A vestigial organ in man
vi) The phenomenon of ageing in plants
vii) The sensory structure present in the median canal of ear
viii) The blood vessel carrying oxygenated blood back to the heart
ix) The type of pollution which causes an increase in the no. of cancers
%) The unit of heredity in living organisms

B] Choose the correct alternative from the choices given below each statement so as to
complete its meaning and rewrite the complete statements (5]

i) A colour-blind daughter may be born when:
A. Mother is colour-blind and father is a carrier -

B—Motherts-acarrierand father is totour-biimd
C. Mother and father both are carriers
D. Mother is normal but father is colour-b}ind

i) The sclective agent causing the change in pcppered moth was
A. Humans '
B. Lichens
C. Birds
D. Smoke

iii) The longest part of a normal cell cycle is
A. Prophase
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B. Metaphase
C. Interphase
D. Anaphase

iv) The main causc of thermal pollution is rcleasc of
A. Hot water from the industries
B. Hot water from the houses
C. Chemical from industries : ' POT
D. Waste water from the houses AMB"(A BO,?';( ?, 5 Utsav,
Shop No. 1' Ram}-_:. 3: b=t "l (E)
- - p Villews. Rancivai i=n
~v) Cytokinins are predominantly presc ti Thakur VileL=: '
)—E ‘-Feﬁnanemptissﬂe = 332'?;;55(:
B. Meristematic tissuc Mob.
C. Endodermis
D. Cortical region

C] Correct the following statements by changing the underlined words and rewrite the
5]

sentences

i) Centromere is the organclle that initiates cell division.
i) Wooden doors.swell up in rainy season due to 0SMOSIS.
iii) Malleus is in direct contact with the oval window.

iv) Animal hormones are transported by ducts.

v) Destarching means removing starch from the plant.

D] Observe the diagram given below and answer the questions that follow

L[]

Hyposecretion Disorder D

After, a meal

| |
T ~_]

A (endocrime garmd)

L |
l Aa ameal

Livere————C

) Where is gland A located in
11) Name the cells of A that produce B _and C
iii)  What is the role played by B and C in the body?
iv)  Whyis A called an exo-endocrine gland?

two symptoms of D

v) Identify disorder D. Give
' | 5]

the body?

E] Define the following
i) Natality
i) Nerve
iii)  Phenotype
iv) Accommodation
v) Transpiration
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F] Rewrite and complete the following sentences by inserting the correct Wor [5]

space that is provided. ]
- . ' ergy by

i) The conversion of physical energy of light and phosphate ions 1nto chemical energy
the chloroplast is called

1) The number of chromosomes in a skin cell are

1i1) is the process that gives rise to ova o

iv) The process by which molecules distribute themselves evenly within the spac
occupy 1s termed

v) Guttation occurs through the

e they

‘G] Give the functionof the following - [5]

). . Glomerulus
i) Tympanum

111) Fallopian tube
1v) Guard cell
V) Tricuspid valve

H] There are 5 sets consisting of 4 terms each given below. In each set there is a word which

is an odd one. For each of these sets identify the odd onc and category of the group [5]
1) Blinking, knitting without looking, blushing, crying
~ 1) Cerebrum, Cerebellum, Thalamus, Hypothalamus
11) Haemophilia, Colourblindness, Albinism, Night blindness
1v) Seminal vesicles, prostate gland, cowpers gland, lachrymal gland
v) X-rays, carbon dioxide, chlorofluorocarbons, smoke

SECTION B [4d0MKS]
(Answer any four questions)

Question 2
- A] Observe the diagram of the heart given below and answer the questions that follow

(3]

1) Give the location of the heart
1) Label parts 1 and 2
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ODuestion 4

1 o ; - )
vEStudy the dsagram given below and an.wer the guestions that follow

1 Label pants 1 10 4

i) State the function of the part labeled |

ii) What is hernia?

iv) What tissue is present in between the part labeled 47 What is its tunction”
v) Give the pathway of sperms from its site of production to outside the body

B Few RBC's were placed in different concentrations of salt solution for some time.
Ubcerve the diagram shown below and answer the questions that Tollow [ )

ol
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s
. B C
l) [dentify the type of solutions used in test (ubes A.Band C
1) Name the process that caused the cells 1o rupture in A.
iit) Would the end result in test tube C be the same. if plant cell was used instead?
Justify your answer '
iv) Give the state of a plant cell if it were placed in solution A and draw g wel| labelled

diagram to expluin your answer.
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i) Give the function of the parts labeled 3 and 4

i) What happens if part 3 gets an internal clot?
V) Draw a flowchart to represent the sequence ©

Won. EZf 2630'5‘0"& -

-

[ events occurring during clotting

B] Diflerentiate between the following on the basis of what is given in brackets (5]
i) NADP and RuBP ({unction) o
i) Static balance and dynamic balance (structure responsible for it)
iii)  Hyvdrotropism and Thigmotropism (stimulus)
w) Cretinism and dwarlism (cause)
V) Metaphase and Anaphase (position of chromatids)
Question 3 » - )
A] Fill in the blanks with appropriate term/ words. Do not copy [5]
Site of synthesis Hormone produced - Function '
1 2 Increases blood pressure
B} Auxin 4 '
5 Aldosterone 6 '
7 8 Promotes the falling of leaves |
9 Oxytocin 10 |
B] Observe the diagram given below and answer the questions that follow [3]

i) Name the organ systems partly or wholly seen in the above diagram
ii) Differentiate between A and B based on composition of tluid

iii) 1dentify C. Name a hormone that controls its sccretion
_iv) Draw L.S.of organ D and label any three parts
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ivy What change w
for YOUr answer.
v) Wrnite the equ

Cneed? Give 2 reas
ould you observe in the experiment if green light is used? Ginve a reason

ation of the physiological process taking place in the above experiment.

B] Obscrve the diagram shown below and answer the questions that follow [5]

Q‘;\%“\\)S:h l
\"\“Da\}o. ‘Ra!\ 0" - o T - —4IY
Sno Thakut ‘fl’l‘@b’i .' R «f\‘\ V.

s C
AR

. ) Identily the event taking place in the above diagram and define it
‘éJ 1) When and where does'itoccur?
h 19 i) Lixplain its significance :
) iv) Draw a diagram of telophase in skin cells and label any three identifying features

Question 7 =

A Draw a well-labeled diagram of the shortest route that can be 1aken by an 1mpulse

[rom receptor to effector

B] Give scientific reasons for the following
1) T'wins may or may not be identical
il) Throat infections can lead to ear infections
~ 111) Red blood cells lack nucleus and mitochondria

[5]

(3]

A W ot I N, =
v TultoL it o ormg rarnm

v) It you uproot a plant from the soil, its leaves soon wilt.

Scanned by CamScanner



